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ENGLISH VERSION
Instructions : (1) Give the answer of M.C.Q. in your answer-sheet.
(2) Marks are indicated in right side.
1 MCQ.: 20
() __ distribution is continuous probability distribution.
(A) Binomial (B) Poisson
(C) Geometric (D) Normal
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(2) In normal distribution mean deviation = S.D.
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(4)  For a normal distribution if S.I). =5 then mean deviation =

® 4 ® 5
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(5) Innegative binomial distribution mean variance.
A = B =
(©) = (D) None of these

(6) are the parameters of hypergeometric distribution.
(A) n,p B p.q
(C) a,b,n D) a,p,n

(7) The mean of negative binomial distribution is
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(8 is the parameter of Poisson distribution.
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(10) If A and B are mutually exclusive events, then
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(©C) PAH+P(B) (D) None of these

DQQ-002-002208 | 5 [ Contd...



(1D

(12)

(13)

(14)

(15)

(16)

(17

(18)

A prob. of any event always lies

0<P(A)<1
None of these

The total possible out lines set of random experiment is

(A 0<PUA<1 (B)
(@) 0<PA)<1 D)
called .

(A) Sample space (B)
(C) Prob. (D)
V(ax+b)= )

@ V@ ®)
© b ©)
If E(x) =2, then EBx+4) =
(A 6 (B)
() 10 D)
If Vix) =3, then V(dx — 1) =
@ 12 ®)
(Cy 47 D)
Viwy=___

(A) E@? - (Ew)? B)

©  (E@)?-E@? )

Zx12.23 —
A) D x (B)
©) D xyx 03 D)
bos 1=
03 Ay
@ o ®)
Gy A3
© o D)

DQQ-002-002208 | 6

Event
None of these

aV(x)
aZV(x)

18
22

48
11

E(x2) - E(»)

E@?) - JE@)

sz-x1.23
Z .4 23

Gy Mg
O3 Ay
O3 Ay
Gy Ans

[ Contd...



-8 A
(A) N (B) A

A A
© N ) T

@0 Ymrp=_
4 0 B 1

© Sx O -1

Explain : Event, Prob., Equally likely event.
OR

If A, B, C are mutually exclusive and exhaustive events and

5P(A) = 6P(B) = 4P(C) then obtain the values of P(4UB)
and P(A'nB".

Define the mathematical expectation and state properties.
OR

The Prob. distribution of a r.v. x is as follows :

x: 0 1 2 3 4
P(xy 01 P 03 P 0.1

Find, P, mean, variance, S.D.

State the properties and uses of Poisson distribution.

OR
For binomial distribution n = 10, 2P(4) = P(5), then find the
mean and S.D.

Explain : Normal distribution.

OR
For a normal distribution Q, = 24 and mean =37, Find Q.D.
and M.D.
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6

Explain : Multiple correlation and partial correlation with

illustrations.
OR
Calculate R, from the following data :

x 1 2 3 4 5
x, 1 4 9 16 25
¥, 12 14 16 18 20
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